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= ENGLISH =

Thank you for choosing the Delta DVP series PLC. Four channels on DVPO6XA-H3 are

able to receive analog input signals (voltages or currents), and convert them into 16-bit

digital signals. Besides, two channels on DVP06XA-H3 can receive two pieces of 16-bit
digital data from a CPU module, and convert the data into analog output signals

(voltages or currents). Whether the analog input signals are voltage inputs or current

inputs depends on the wiring. The voltage input range is +10 V DC. (The resolution is

312.5 pV.) The current input range is 20 mA. (The resolution is 0.625 pA). Whether the

analog output signals are voltage outputs or current outputs also depends on the wiring.

The voltage output range is +10VDC. (The resolution is 312.5 pV.) The current output

range is 0~20mA. (The resolution is 0.625 pA.)

¥ Please read this instruction sheet carefully before using the product.

» Switch off the power supply before wiring. Please do not touch the internal circuit until
the power supply has been switched off for one minute.

~ DVPO6XA-H3 is an OPEN-TYPE device. It should be installed in a control cabinet
free of airborne dust, humidity, electric shock and vibration. To prevent the
non-maintenance staff from operating the product, or to prevent an accident from
damaging the product, the control cabinet should be equipped with a safeguard. For
example, the control cabinet is unlocked with a special tool or key.

» DO NOT connect the input AC power supply to any of I/O terminals; otherwise
serious damage may occur. Check all the wiring again before switching on the power
supply. Do NOT touch any terminals when the power supply is switched on.

» Make sure that the ground terminal D is correctly grounded in order to prevent
electromagnetic interference.

= Product Profile & Dimensions

[EB

Unit: mm
1. Groove (35 mm) 6. Terminals
2. Connector 7. Mounting hole
3. Model name 8. Arrangement of I/O terminals
POWER, ERROR, and A/D LED
4. . 9. Connector
indicators

5. Mounting hole
= I/0 Terminal Layout

[24V] OV [ VI V2+] 12+ [VI3- | V4+] 14+ [VO5] VO§|
[ Tvi+] = Vvi2-Jva+] 13+ [Vi4-[105] 106] AG ]
CHT CH2 CH3 CH4 CH5 CH®6




= External Wiring
I3, AG
WERE Jﬁ w r@

Shielded cable"1 (1

CHo

Currentinput
-20mA~+20mA

= oo — =] I_:.TW
Dl L

Voltage output
0V~+10V

AnAC motor drive.

arecorder, Shielded cable*1 (L)
a proportioning valve.

AnAC mofor drive,
arecorder, Shicldedcables (1)
a proportioning valve.

Itis connected to the X >
terminal @on the CPU module DC/DC sV
[ole ooavs FOA " [ | comener [ 246
System ground ——» .15V

Ground (The impedanceis below 100€))

*1: Please isolate the analog input from other power cables.

*2. If the module is connected to a current signal, the terminals V+ and I+ have to be
short-circuited.

. If the ripple in the input voltage results in the noise interference with the wiring, please
connect the module to the capacitor having a capacitance within the range between 0.1 uF

and 0.47 uF with a working voltage of 25 V.

*4. Please isolate the analog output from other power cables.

*5. If the ripple is large for the input terminal of the load and results in the noise interference with
the wiring, please connect the module to the capacitor having a capacitance within the range

between 0.1 uF and 0.47 pF with a working voltage of 25 V.

*6. Please connect the terminal @ on a CPU module and the terminal © on DVP0BXA-H3 to
a system ground, and then ground the system ground, or connect it to a distribution box.
Note: Please do not wire the terminal ®.

m Specifications

*
[

Analog-to-digital conversion Voltage input ‘ Current input
Supply voltage 24VDC (20.4VDC~28.8VDC) (-15%~+20%)
Number of channels 4 channels

Analog input range 10V +20mA

Conversion range +32,000 +32,000

Resolution 16 bits (1,65 = 312.5uV) | 15 bits (1,5 = 0.625pA)
Input impedance Above 1MQ 250Q

25°C/77°F: £0.5% of the input within the range
0~55°C/32~131°F: +1% of the input within the range
Response time 1ms

Overall accuracy

. The internal circuit is isolated from the analog outputs, but
Isolation .
the channels are not isolated from one anther.

Average function Users can store the numbers of values averaged in
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CR#2~CR#5. Range: K1~K20.

Self-diagnosis

Upper/Lower limit detection/Channel

Digital-to-analog conversion Voltage output Current output
Number of channels 2 channels

Analog output range -10V~+10V 0~20 mA

Data range -32,000~+32,000 0~32,000

Resolution 16 bits (312.5 uV) 15 bits (0.625 pA)

Overall accuracy

25°C/77°F: £0.5% of the input within the range
0~55°C/32~131°F: +1% of the input within the range

Analog-to-digital conversion Voltage output ‘ Current output
Input impedance 0.5Q or below

Response time 1ms

Maximum output current 20mA -

Permissible load impedance

- 0~500Q

The internal circuit is isolated from the analog outputs, but

eiitem the channels are not isolated from one anther.
The voltage output is equipped with the short circuit
Protection protection. However, users must notice that a long-term

short circuit will damage the internal circuit. The current
output can be an open circuit.

Connection with a DVP-PLC
CPU

The modules are numbered according to their distances
from the CPU module. The numbers start from 0 to 7. Eight
modules at most can be connected, and they do not occupy
digital inputs/outputs.

= Other Specifications

Power specifications

Rated maximum
power consumption

24VDC (20.4VDC~28.8VDC) (-15% ~ +20%); 4.5W
An external power supply supplies the DC voltage.

Environment specifications

Operation: 0°C~55°C (temperature); 5~95% (humidity); pollution
Operation/Storage | degree 2
Storage: -25°C~ 70°C (temperature), 5~95% (humidity)
Vibration/Shock International standards IEC 61131-2, IEC 68-2-6 (TEST Fc)/IEC
resistance 61131-2 & IEC 68-2-27 (TEST Ea)
= Control Registers
CR# PRl Attribute Ry Description
address name
The model is defined by the system. The model
) of DVP06XA-H3 is H'6608.
#0 H50C8 |O| R (Model Users can read the model from the register by
means of the program.
CH4 CH3 [ cH2 [ cH1
Mode 0000: Voltage input (-10 V~+10V)
Mode 0001: Voltage input (-5 V~+5 V)
, Input modi
#1 | Hs0ce |0 Rw | B TR | Mode 0010: Voltage input (1 V~+5 V)
Mode 0011: Current input (4 mA~+20 mA)
Mode 0100: Current input (-20 mA~+20 mA)
Mode 1111: The channel is disabled.
Reserved | Reserved [ CH6 | CH5
Mode 0000: Voltage output (-10 V~+10 V)
Output mod Mode 0001: Voltage output (-5 V~+5 V)
#2 | H50CA |O| RW (C“H’;“_Cr::;)es Mode 0010: Voltage output (1 V~+5 V)
Mode 0011: Current output (4 mA~+20 mA)
Mode 0100: Current output (0 mA~+20 mA)
Mode 1111: The channel is disabled.
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CR# P:;rgzt:r Attribute R:g;ffr Description
#3 H'50CB |O| R/W |Number of values averaged for CH1

#4 H'50CC |O| R/W |Number of values averaged for CH2

#5 H'50CD |O| R/W |Number of values averaged for CH3

#6 H50CE |O| R/W |Number of values averaged for CH4
CR#3~#6: Users can store the numbers of values averaged in these registers.
Range: K1~K20, Default: K10.

#7 H'50CF |X| R |Average of signals received by CH1

#8 H'50D0 |X| R |Average of signals received by CH2

#9 H'50D1 | X| R |Average of signals received by CH3

#10 | H'50D2 |X| R |Average of signals received by CH4

CR#7~#10: Users can store the averages of signals received by CH1~CH4 in these registers.

Value sent by

#11 | H50D3 |X| RW CH5 The values sent by CH5~CH6.

Value sent by Default: Ko
#12 | H50D4 |X| RW CH6 Unit: LSB
#13 | H50D5 |[X| R |Current Value received by CH1
#14 | H50D6 |X| R |Current Value received by CH2
#15 | H50D7 |X| R |Current Value received by CH3
#16 | H'50D8 |X| R |Current Value received by CH4
CR#13~#16: the current values received by CH1~CH4 are stored in these registers.
#18 | H'50DA |O| RW | Offset used for calibrating the signal received by CH1
#19 | H50DB |O| RW | Offset used for calibrating the signal received by CH2
#20 | H'50DC |O| R/W | Offset used for calibrating the signal received by CH3
#21 | H50DD |O| R/W | Offset used for calibrating the signal received by CH4
#22 | H50DE |O| R/W | Offset used for calibrating the signal sent by CH5
#23 | H50DF |O| R/W | Offset used for calibrating the signal sent by CH6
CR#18~#23: users can store the offsets in these registers. Default: KO, Unit: LSB.
#24 | HS50E0 |O| R/W | Gain used for calibrating the signal received by CH1
#25 | H50E1 |O| RW | Gain used for calibrating the signal received by CH2
#26 | H50E2 |O| R/W | Gain used for calibrating the signal received by CH3
#27 | H50E3 |O| RW | Gain used for calibrating the signal received by CH4
#28 | H50E4 |O| R/W | Gain used for calibrating the signal sent by CH5
#29 | H50E5 |O| R/W | Gain used for calibrating the signal sent by CH6

CR#24~#29: usel

rs can store the gains in these registers. Default: K16,000, Unit: LSB.

The error state is stored in this register. Please

#30 | HS0E6 |X| R |Erorstate refer to error message table below.
c cati The RS-485 communication address is stored in

#31 | HS50E7 |O| RW | oteMealon | this register. The setting range is 01 ~ 254. The
default value is K1.
Communication speed:
4,800/9,600/19,200/38,400/57,600/115,200 bps
ASCII data: 7-bit, even bit, 1 stop bit (7, E, 1)
RTU data: 8-bit, even bit, 1 stop bit (8, E, 1)
Default: H'0002

#32 | H50E8 |O| RW Communication | b0: 4,800 bps; b1: 9,600 bps (default)

speed b2: 19,200 bps; b3: 38,400 bps
b4: 57,600 bps; b5: 115,200 bps
b6~b13: Reserved

b14: The high byte of the CRC checksum is
interchanged with the low byte of the CRC

checksum. (Only the RTU mode supports the
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Parameter Attribute Register

e address name

H

Description

interchange.)
b15: Switch between the ASCII mode and the
RTU mode (0: ASCII mode (default))
b15 [ b14[p13[ b12[ b11~b9 | b8~b6 [ bS~b3 | b2~bO
CH6 | CH5 | CH4 [ CH3 [ CH2 | CH1
Restoring all | Take CH1 for example.
the setting If the value of b2 is 1, all the setting values are
values to the |restored to the factory setting.
factory setting | Take CH5 for example.
If the value of b13 is 1, all the setting values are
restored to the factory setting.

#33 | HS0E9 |O| RW

The current version of the firmware is represented

" Firmware by a hexadecimal number. For example, if the
#34 | HS0EA 10| R version current version of the firmware is 1.0A, it is
represented by H'010A.
#35~#48 For system use only

The definitions of the symbols:
O indicates that the register is a latched register. (Data needs to be written into the register
through the RS-485 communication.) X indicates that the register is a non-latched register.
R indicates that the data can be read from the register by means of the instruction FROM or
through the RS-485 communication.
W indicates that the data can be written into the register by means of the instruction TO or
through the RS-485 communication.
Least significant bit (LSB): 1. Voltage input: 1,s5=10 V/32,000=0.3125 mV

2. Current input: 1,55=20 mA/32,000=0.625 pA

3% Error state table

Error state Value b;: b7|b6|b5|b4|b3|b2| b1 b0

The power supply is abnormal. K1 (H'1) ojojofojo|o|O|1
Hardware failure (GPIO) K2 (H'2) o/ofojojo|0|1]|0
Offset/Gain error K4 (H'4) ofojojo|0(1/0/|0
The input received by CH1 exceeds the range of "
inputs which can be received by the hardware. K8 (H8) § ojojojoj1iojoo
The input received by CH2 exceeds the range of " 2

0
inputs which can be received by the hardware. K16 (H10) & 0 oft|ojojojo
The input received by CH3 exceeds the range of .

0
inputs which can be received by the hardware. K32 (H20) 0 tjojojojo o
The input received by CH4 exceeds the range of )
inputs which can be received by the hardware. K4 (H'40) o|rjojojojojoo

Note: Every error state depends on the value of a corresponding bit. There may more than
two error states at the same time. If the value of a bit is 0, there is no error. If the value
of a bit is 1, there is an error.

= Adjust Conversion Curve

Users can adjust the conversion curves according to the practical application by
changing the offset values (stored in CR#18~CR#21) and the gain values (stored in
CR#24~CR#27).

Gain: The corresponding voltage/current input value when the digital output value =
16,000.

Offset: The corresponding voltage/current input value when the digital output value = 0.

® Equation for voltage input ModeO / Mode2: 0.3125mV = 20V/64,000 = 10V/32,000

X()
10(7)

Y =16000 x ( %32000 — oﬁser] /(Gain — Offset)

Y=Digital output, X=Voltage input
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® Equation for voltage input Mode1 / Mode3: 0.15625mV = 10V/64,000 = 5V/32,000

¥ =16000x [ XU, 32000 Oﬁ'set] /(Gain —Offser)
5(7) Y=Digital output, X=Voltage input
e Equation for current input Mode4 / Mode5: 0.625pA = 40mA/64,000 = 20mA/32,000
¥ =16000x ( Xmd) 5000 O/]Set] /(Gain — Offser)
20(mA) Y=Digital output, X=Current input
® Equation for current input Mode6: 0.5puA = 16mA/32,000
Adopt the Equation of current input Mode4/Modeb5, substitute Gain for 19200
(12mA) and Offset for 6400 (4mA)

Y =16000 x ( ;i)(m’:) % 32000 — 6400]/(1 9200 — 6400)
(mA) Y=Digital output, X=Current input
* Mode 0 * Mode 1
+32384 +32384
+32000 +32000
Digital Digital
output +1 output +
-1V 0 5V -5V 0 2.5V
10v 5V
Offset  Gain Offset  Gain
f~-16000 |--16000
Vortagemput > Vortage mput >
-32000 -32000
-32384 -32384
* Mode 4
+32384,
+32000
Digital
output 4
-20mA 0 10mA
20mA
Offset  Gain
|--16000
Currentinput
-32000
-32384
Mode 0 (CR#1) -10V~+10V; Gain=5V (16,000); Offset=0V (0)
Mode 1 (CR#1) -5V~+5V; Gain=2.5V (16,000); Offset=0V (0)
Mode 4 (CR#1) -20mA~+20mA; Gain=10mA (16,000); Offset=0V (0)
Range of digital values -32,000~+32,000
Max. range of digital values | -32,384~+32,384
* Mode 2 * Mode 3
+32384 +32384
+32000 +32000
Digital Digital
output +16000. output +16000!
Gain Gain
0 / / 0 4

asa| HV 3V 5V 384/} 4mA 12mA  20mA

Offset S itage input O Camrentmpon
Mode 2 (CR#1) 1V~+5V; Gain=3V; Offset=1V
Mode 3 (CR#1) +4mA~+20mA; Gain=12mA (19,200); Offset=4mA (6,400)
Range of digital values 0~+32,000




Max. range of digital values | -384~+32,384

Users can adjust the conversion curves according to the practical application by
changing the offset values (stored in CR#22~CR#23) and the gain values (stored in
CR#28~CR#29).

Gain: The corresponding voltage/current input value when the digital output value =
16,000.

Offset: The corresponding voltage/current input value when the digital output value = 0.
® Equation for voltage output Mode0: 0.3125mV = 20V/64,000

Y0)= I:Xx(Guin —Offset)

) 1007)
16000 + O/j‘sel} x[ )

32000 Y=Voltage output, X=Digital input

® Equation for current output Mode1: 0.625pA = 20mA/32,000

¥ A){XX(Gawom-ez)Jr 0 //m]x( 20(mA))
16000 32000 Y=Current output, X=Digital input
e Equation for current output Mode2: 0.5pA = 16mA/32,000
Adopt the equation of current output mode 1, substitute Gain for 19,200(12mA) and
Offset for 6,400(4mA)
Yind)= [Xx(1920076400)+6400]X[20(mA)J
16000 32000
* Mode 0 * Mode 1

Y=Current output, X=Digital input

sv
Gai

A

Gain

Wndino aBelion
ndino abeljon

00

N, +16000 +32000

Offset +16000  +32000

offset

b osv
b -2sv

Digitalinput

“tov Digial input
-sv
Mode 0 (CR#1) -10V~+10V; Gain=5V (16,000); Offset=0V (0)
Mode 1 (CR#1) -5V~+5V; Gain=2.5V (16,000); Offset=0V (0)
Range of digital values -32,000~+32,000
* Mode 2 * Mode 3
s * Gain g o Gain
‘;‘: 3v g 12mA
-6400 0 +16000 +32000 -6400 0 +16000 +32000
Offset Offset
Digital input Digital input
* Mode 4
20mA Mode 2 o~ o _
o (CR#1) 1V~+5V; Gain=3V; Offset=1V
3 G
4 AN Mode 3 +4mA~+20mA; Gain=12mA
g 1omA (CR#1) (19,200); Offset=4mA (6,400)
= o Mode 4 0mA~+20mA; Gain=10mA (16,000);

(CR#1) | Offset=0V (0)

N\ *16000  +32000

Offset Range
Digital input > of digital | 0~+32,000
values




PELS
BHTIRAGE DVP 25 ZEm - DVPO6XA-H3 BB /B LIRS EAS S T HZ N0 4
HELLERBA (BEXBREY ) 28] 16 (x 2 BUIES - BLLERELAMD
EZHRE PLC A0 2 4 16 IImBMUER - B 2 @i 2 BEERRL ( BBNE
MEET ) BELERBALD : RMEULHEREEERHANSRAA - SEHAEL
& +10VDC ( BHTE% 312.5uV ) - EREALE £20mA ( B17E% 0.625pA ) - LS
SRELEY  EMEUCHEREZFEERLATRHAL - EEHHEE +10VDC (B2
MER 31250V ) - ERHLHEE 0~20mA ( BATES 0.625pA ) -
» FEEERZA - FARELERRBS -
x BIGEARAT - BOREAER - RBABRIE R - —DEZR - F2ERANE -
» AEBFME (OPEN TYPE) #7% - FILERE ERAKE - HARZZERER
B PR RNBR/EERIIZIIREREAN - SUEEFHREER (W BSH2T
BB A TTR) ML EASRIFURIMNERAR - EHBRRIBR -
¥ BABRATUEZREAALENRR - SRITEEKRERR  BELEZAIFRE
REIREAR - WHEE LERSEEIRT -
¥ AEE T © BUEROEL  TIREERAMTES -

» EmSMERTEEMIN A

HMERAE SRS ARER 1 Z Figurel - B : mm [inch] °

1. DIN E#1# (35mm) 6. ¥

2. WFEHARTEAEED 7. EEAR

3. HiEEE 8. IHFERE

4. BR - HRRERIETE 9. MBFTHBITIR AR
5. DIN #EEN

» WAELEFERE

BEREERER 1 ZInFEREE - FIESRA SRR -

n SMERECAR

51 BHMARBEMERE R -

2 MPEEERERE - V4R I+ I TRABLES -

33 MRHABREERE AR SENT EREIEE 0.1 ~ 047yF 25V 2 BS -

4 BN EBE MRS R -

5 MRBHIWAREHEAASHEAZENTER - HIEE 0.1 ~ 047yF 25V 285 -
6. mnmmrar Onw oveosxats Btssnnseg > Omepnzswminy . 55
FAEE R ERIRERE R -

HE 2T ® HoRs -

AG
TEHA L
-10V~+10V CH1 ™M
N i Q CHO
g e 250!
3= = " I—J7

[t ]

BRE@A
-20mA~+20mA

CH4




25 288 P he 1
E I
=¥l bl
CH6

HEi (BT 100Q LITF)

OmA=~20mA Vo6 CHe
106
AG —
BRE - R a4
H .. ©
EERAY 5
(=IO o v TI 1? bope > *15Y
[0 3 = P T L1AG
L Wiz 1
U}U?ﬂmﬁmsﬁ L—OIV— sy

n FRE

B BT (AD) 2 BEHA [ BRHA
EREE 24VDC (20.4VDC ~ 28.8VDC) (-15% ~ +20%)
RS A 4EEA
B ARE +10V +20mA
FrsinEE +32,000 +32,000
R 16 bits (1,s5 = 312.54V) | 15 bits (1,s5 = 0.6254A)
LIPNZE7 1MQ B E 250Q

+0.5% 7E (25°C, 7T7°F ) SEFHZIER -

il fiok +1% 7€ (0 ~55°C, 32 ~ 131°F ) #ERMZIER -

ErERE 1ms

mRS T MBI RIE B R - BRI -

Fi5InkE 7 ( CR#3 ~ CR#6 IR + #i[E K1 ~K20)

ERZEEE TR S

It %t (DA) 36 mEHE R
SRS E 2 A
fEtbEE LEEE -10V ~ +10V 0~20mA
HUBEREERE -32,000~ +32,000 0~ 32,000
RE 16 bits (312.5uV) 15 bits (0.625uA)

N +0.5% fE (25°C, 77°F) &ENRZIER -
S +1% 7€ (0 ~55°C, 32 ~ 131°F) #EARZIER -
AR 0.50 or B
LRERE 1ms
BAHEER 20mA -

BHFEaHER - 0 ~500Q

RS NEBREEEARE - BEREE -

- R SR R O T B R AR A TR M A
RESIA - T T -
BAESE RIE T  IEF EEESER 05 7 - BATIEES

FEDVP-PLC EMBEAT | L mximmm 10 miss -




= HithiR1E

=R
7t - ~15% ~ +20%), 4.5W, ESSMEIER

EEBANEE HJft 24VDC (20.4VDC ~ 28.8VDC) (-15% ~ +20%), 4.5W, E34MEREIR

7 -
B

BE : 0°C ~55°C (JBE ) 5~95% (RE ) SREM2;

1BIE /) R

! ® | 7 25°C~70°C (GRE ) 5~ 95% (RE)-

il 5 8h/E B EE#EIRE IEC 61131-2, IEC 68-2-6 (TEST Fc)/IEC 61131-2 & IEC

68-2-27 (TEST Ea)

= EHIEFE CR

R ii Bit uEREH 28
ZHATE - DVPOBXA-H3 MIBHRIS = H'6608
#0 |H'50C8 |O| R |i&fEHusE ERZYUERN PRBUIHERSEEL - DB
FRBRETE -
CH4 | cH3 [ cH2 [ cHi
3 0000 : BEB A (-10V ~ +10V )
o 13 0001 : BEHI A (-5V~+5V )
#1 | Hsoce o Ry | A BHEE 138 0010 : BEH AL (1V ~+5V)
(CH1~CH4) 18300011 : EHMAMBS (4mA ~ +20mA )
%30 0100 : ERAAREI (-20mA ~+20mA )
3 1111 : BB
REB R CH6 CH5
13 0000 : EEHLER (-10V ~+10V )
’ PO #3 0001 : BEHBIET (-5V~+5V)
#2 |H'50CA |O|RW ( CH5~CHS ) #32( 0010 : BEHLAE (1V~+5V)
130 0011 : ERELAETC (4mA ~ +20mA )
30 0100 : EREELET (O0mA~+20mA )
HEI 1111 BERAR
#3 |H’50CB |0 |RW |CH1 15 %08
#4 |H'50CC |O |R/W |CH2 Fi9RE B CH1 ~ CH4 AR FHREE - ARk
#5 |H'’50CD |0 |RW |CH3 T8 %08 FEHBE K1 ~ K20 « B EIES K10 »
#6 |H'50CE |0 |RW | CH4 T15%08
#7 |H50CF | X| R |CH1#AESETHE
#3 |H'50D0 | X| R |CH2 #AS3ETIa/E
#0 [HS0DT|X| R |CHa ARE T | T O~ OHé MARSITSERT -
#10| H50D2 | x| R [cHa A S FI9E
#11 | H'5003 | X | R | cH5 st 3B} CH5 ~ CH6 Wit B, R A B KO - B
#12| H'50D4 | X |RMW | CHe 8811 % LSB -
#13|H50D5 | x| R [cH1 mAEsERES
#14|H5006 | x| R |CH2 WASHRER _
B CH1 ~ CH4 A ESRIREERR
#15|H50D7 |X| R [cH3 sAEsREE
#16|H'5008 | X| R |CH4 MASSHREE
#18| H'50DA |0 |RW| CH1 #58 OFFSET (& 838 CH1 ~ CH6 #1840 OFFSET 327 - R T
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x ifﬁ Bt | meneE e L
#19| H'50DB | O|RIW| CH2 #4438 OFFSET 1| % KO - §4i1% LSB -
#20| H50DC |0 |RW| CH3 #58 OFFSET &
#21| H'50DD | O |RA | CH4 #3 OFFSET {8 | 838 CH1 ~ CH6 33840 OFFSET 327 - IR
#22| H'50DE | O |RIW| CH5 #4438 OFFSET 18| % KO - Bfi1% LSB -
#23| H'50DF |0 |RMW | CHe 458 OFFSET &
#24| H50E0 |0 |RW/|CH1 438 GAIN
#25| H'50E1 |0 |RW | CH2 128 GAIN &
#26 | H'50E2 | O |R/W |CH3 #438 GAIN 8 | 838 CH1 ~ CHB 3560 GAIN 38 E - IR EE
#27| H50E3 |0 |RW|CHa B GAIN | 5 K16,000 - B LSB -
#28| H'50E4 | O |RMW| CH5 38 GAIN &
#20| H'50E5 | 0 |RMW | CHe %138 GAIN
. REMAERRENENEZR  FHARNEHES
#30| H50E6 | X| R | st -
#RERE -
o 2072 RS-485 WAL - 50724008 01 ~ 254 - R
#31| H'50E7 | O |RIW | B3R i it E8
HREBERKIL -
SRR - $75 4,800/9,600/19,200
bps/38,400 bps/57,600 bps/115,200 bps ATE *
ASCII B ERELEES 7-bit + BT * 1 stop
bit (7, E, 1) - RTU X EREXEES 8-bit ~ 18
LT 1 stop bit (8, E, 1) - HEKEEEE %S H0002 -
. N b0: 4,800 bps; b1: 9,600 bps ( LR EE
#32| HS0E8 | O| RIW| iBaR sk 2 b2: 19,200 Eps; b3: 38,400pbp(s )
b4: 57,600 bps; b5: 115,200 bps ( 7t/ )
b6 ~ b13: 2E
b14: CRC BB EMIRIE (1 RTUEXAN )
b15: ASCI/RTU =i - 0 %5 ASCII 2 ( i
R ETE )
b15| b14 b13| b12| b11~b9 | b8 ~ b6 b5~b3 | b2~b0
CH6 | CH5 | CH4 | CH3 | CH2 | CH1
#33| HIS0ES | O |RAW | gt Bise OH1 - Crla D OH1 BERAa
b2 /ER 1 K FIEREEREERRMREE -
CH5 ~ CHB 1l CHS 3&7E5RHA8 : b13, b12 :
b13 R ER 1B IEREERDERFEMREE-
#34|H50EA|O| R |#EEIRA 16 & - BB ATENEEARAS - 40 1.0A B H'O10A-
#35 ~ #48 RBAEER
HIRER : O BARIFE (JAH RS-485 BB AT BEERFING ) X RAAIFERIFE -
R ERABOER FROM 5L HEER - st f RS-485 BHAGEIER -
W EZRABOER TOESBAER - 5FIFH RS-485 BB ALR -
BIEAMAMIE (LSB): 1. BEHA : 1,,=10V/32,000=0.3125mV
2. BRBA : 1.s =20mA/32,000=0.6250A
3¢ CR#30 $HFRIRARE -
SERRIRAR ABE b15~b8 | b7 | b6 | b5| b4 | b3 | b2 | b1 | b0
BRERE K1 (H1) 28 o|ofofo|ofo|o]1

11




SRARRAR W§1E b15~b8 | b7 | b6 | b5 | b4 | b3 | b2 | b1 | b0
TEREE0E (GPIO ) K2 (H'2) ojojo|o|ofO0|1]0
OFFSET/GAIN 532 K4 (H'4) ojlo|o0|O0|O0O|1|0]|0
CH1 #IRERE K8 (H'8) ojlo|o|o|1|[0|0]|0O
CH2 #IRERS K16 (H'10) 1RE oj{o|lof1]|0|0|0]O
CH3 #IRERE K32 (H'20) oj{0|1(0|0|0|0O]O
CH4 #I8ERE K64 (H40) o|j1|/ofo|o0o|0|0O]O
i BEERREREHEZAT b0 ~ b7 SRE - AYEREREEME L Z#HERRE - 0

RRESMER - 1 ARBHEBAREEE -

» ARBIRAEHER

EREURERERTERBEG AR MR FER DI Offset {8 CR#18 ~ CR#21)
& Gain 18 ( CR#24 ~ CR#27 ) JR¥EAT -
HAANESREIRER 56 2EH - FEUESRABIKSRR -

o 30 o fE3(1
+32384] +32384
+32000 +32000
132 #
-] &
!ﬂ +16000 @ +
-lov 0 5V -5V 0 2.5V
10V
Offset Gain Offset Gain v
|--16000 t--16000
_ s
32000 aEnA BEBA
32384 o308"
o 123 4
132000 10V ~ +10V - Gain = 5V
A +32000! " - ~+ + Gain =
#®30 (CR#1) —
. (16,000) - Offset = OV (0)
L] + .
b R0 - -5V ~ +5V - Gain = 2.5V
L1 (CR#) | 16 000) - Offset = OV (0)
-20mA 0 10mA
2omA | -20mA ~ +20mA - Gain = 10mA
ofisot Gain B304 (CR#1) | (16,000 - Offset = 0V (0)
-oeo0e BEZNEE | -32,000 ~ +32,000
WA
B v
R féggmﬂ@ -32,384 ~ +32,384
o 532 o 133
+32384 +32384
+32000 +32000
ol
& &
it@ +16000 it@ +16000
Gain Gain
0 0
ol Mv By Y 384 *Jf‘th 12mA 20mA
Offset ——— Offset BHBA
. &nh
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%3 2 (CR#1) 1V ~ +5V - Gain =3V - Offset = 1V

&3t 3 (CR#1) +4mA~ +20mA - Gain = 12mA (19,200) - Offset = 4mA (6,400)
HEEREE 0~ +32,000
HEENHEEBRE -384 ~ +32,384

ERAETRERERREAREEE IR R FR05 2 Offset (B CR#22 ~ CR#23 )
& Gain {8 ( CR#28~ CR#29 ) 2R¥#1T -
HAALFESRARER 7 28X - HILESRAEIERA -

o B30 o183 1
10 5V
® Gain S Gai
W sV % z.svi\—
# #
-32000 o -32000 o
™\ +16000 +32000 ™. +16000 +32000
Offset Offset
|- -5v |- -2.5v
Pr—
HEBA BEHA
-10v R WY
3 0 (CR#1) -10V ~ +10V * Gain = 5V (16,000) - Offset = OV (0)
B3 1 (CR#1) -5V ~ +5V  Gain = 2.5V (16,000) - Offset = 0V (0)
UHEREEE -32,000 ~ +32,000
o B3 2 o B3
5V 20mA
Gain Gain
= k3
= 3v b 12mA
W Eil
H k4
v 4mA
-6400 0 +16000  +32000 6400 0 +16000  +32000
Offset Offset
—_—
HE@A HEBA
o B3 4
20mA
s Gain
i 10mA
H
0
+16000 +32000
Offset
HE@BA
#8302 (CR#1) 1V ~ +5V - Gain =3V - Offset = 1V
#3503 (CR#1) +4mA~ +20mA - Gain = 12mA (19,200) - Offset = 4mA (6,400)
B3 4 (CR#1) OmA ~ +20mA - Gain = 10mA (16,000) - Offset = 0V (0)
HIE R E 0~ +32,000
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EPx
USSR FAG A DVP £33 & -DVPO6XA-H3 I A /MRS ER B2 RSN 4
SENESHA (BESERST ) FZERE 16 IZHFES - BIMESHLEBNE
FRE PLC 802 A 16 IHFHIE BRZERN 2 AENESHL ( BENBRE
o) BEIESHARY  RREUEAHELAEEEEAANRREA - 8EEAEE
+10VDC ( /PR 312.5uV ) - BREATEE +20mA ( PR 0.625pA ) - RIMES
A EREYLBELRFEEBENEREL - EEBMEERE +10VDC ( 9
3} 312.5pV ) - EBRELSEE 0~20mA ( A #ED9 0.625pA )
¥ BEERZA - FRRIRAERRBAS -
N KHEECLR] - SHRALIR - TRARRIMG - —2H2ZR - E2ERNEBE -
X FHAFHE (OPEN TYPE) % R EREERANN LG z2xTERL
R e TRO/PERINZIINRERLEA - BUNEERIPEG (0 HHZIEY
ARLA TIHTTT) BhLEFR4EF ARIRIESUROMNP AL - BEHBKRRIRE -
¥ BWARRAIEZETEAAMILESE - SWAREEKTERNE - EE LB ZAIFRE
INERIRECL, - FEDE LR AEE IR T -
¥ BT © SUEBOET  TIREFRIARSES -

= FmSMIR T SEMIT A

FERERRIESHE MRS 1 2 Figure1 - 841 : mm [inch] -

1. DIN SH1# (35mm) 6. ¥

2. ¥RAYTFERERED 7. EEAR

3. MBI 8. IHFERE

4. BR - HRRERERT 9. ¥ FA/Y FARRIE e
5. DIN $iEEN

m WAL TEEE

BSREXRIE 1 Z2EFRER - FEILESRABERER -

n SMERECLE

1 BINEABESETERERE -

2 MBEERRESN - V4R I+ HTIESNES -

3 MR B AR IS AL B IR T RIS ER 0.1 ~ 0.47uF 25V 2% -

T4 EIBHIESETERERE -

5 MRAHZEARERAABHELZBETAN - BIERE 0.1 ~ 047yF 25V 285 -
6 mmnny DR ovposxaHs B Esnren > Orepnxsmns B
SO AR ERIR R ZNE L -

R 2T © EoRs -

AG
HUE HIA =
-10V~+10V CH1 ™
—

2500

14+
Via- |

CH4

i 250Q CHo
3== [ n+ |
L _ - [ 1
RS 2k %q
I AG
A
-20mA=+20mA eH4 ™

_‘
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EUE NS
1

HUE 4 i

cte
% "
e DCIDC SV
nE 7AG45V
1531
= 18
KT (AD) H BERA | EBRAA
BiREE 24VDC (20.4VDC ~ 28.8VDC) (-15% ~ +20%)
B SHEARGE 43BBIA
I ASEE +10V +20mA
e +32,000 +32,000
SR 16 bits (1,65 = 312.50V) 15 bits (1,¢5 = 0.625pA)
imARET mMQ BLE 250Q

. +0.5% £ (25°C, 77°F ) SEEANHZIER -
BAREE 1% £ (0~ 55°C, 32 ~ 131°F ) SEMAHAEA -
LIVENE 1ms
REH RBBESHENRARES - BEERRES
FE9ThaE 7 (CR#3 ~ CR#6 TJi2E - SEHE K1 ~K20)
BRDMThEE ETFRBRETNEE

Hp A2 (DA) B BEHEE B
EIH St EE 2@iE/ A
EHRLSEE -10V ~ +10V 0~20mA
HrRiEEE -32,000~ +32,000 0~ 32,000
S 16 bits (312.5V) 15 bits (0.625pA)

. +0.5% £ (25°C, 77°F) SEENHZER -
RAEEE +1% % (0~ 55°C, 32 ~ 131°F) SBEAHZE -
HHATR 0.5Q or BIE
i 7 it 1ms
AR 20mA -

B REBER - 0~ 5000
REH REBESHENRARES - BEERRES
o BERHARBRPEIVEEKNEREIIE OISR L

RIF - B BT TR

5 DVP-PLC AR

BRESURLENZINFENRSHOE 7 RATEZBH
FEREF 0 =% -

= HEME
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EBIRAAE

BERAMEIE |,

Bt 24VDC (20.4VDC ~ 28.8VDC) (-15% ~ +20%), 4.5W, EASMEFEBIR

F A

BRIF / MTFE 5

#R1E 1 0°C ~55°C (JRE )  5~95% (JEE ) )53

SR 2,

75 1 -25°C ~70°C (2L ) 5~95% (JBE )-
- RS - 2. -
R —— S:_B;r;&(féseTlgg)e1131 2, IEC 68-2-6 (TEST Fc)/IEC 61131-2 & IEC
EHIFEFR CR
x iﬁ Bt SHREH 146
ZUAE - DVPOBXA-H3 LIPS = H'6608
#0 |H'50C8 |O| R |#fpES FEREUERF PG IANMESEE - DY
RIEREEEFE -
ce [ chs | cH2 [ on
1% 0000 : BEHABE (-10V ~+10V )
' WA 1%:‘:@ 0001 : %Eiﬁ/\%%i\? (-5V~+5V)
#1 | H'50C9 |O | RIW ( CHI~CH4 ) 130 0010 : BEMARER (1V~+5V)
3 0011 : EBFMAEI (4mA ~ +20mA )
#3{ 0100 : uuiau)\ﬁT (-20mA ~+20mA )
EI 1111 BERA
fRER R CH6 CH5
3 0000 : EBEMEET (-10V ~+10V )
s 130 0001 : BEMERE (-5V~+5V )
MEERIRE .
#2 |HS0CA O|Rw| [ o 138 0010 : EBEHEER (1V ~+5V )
130 0011 : ERHIHAETC (4mA ~ +20mA )
130 0100 : ERMEET (OmA ~+20mA )
#1111 BERA
#3 |H’50CB |0 |RW | CH1 15708
#4 |H500C |0 |RW |CH2 5% {538 CH1 ~ CHA A SRTIORRILE - Tig
#5 |H'’50CD |0 |RW |CH3 5% FESBE K1 ~ K20 « HMQEEA K10 -
#6 | '50CE |O|RW|CH4 157031
#7 |H50CF x| R |CH1mAESTHE
#8 |H5000 | X| R |CH2 AESTHE _
{53 CH1 ~ CH4 HIAESFHERETR -
#9 |H'50D1|X| R |CH3®AESTiaME
#10| H5002 x| R [cHa mAEEFI9E
#11 | H'50D3 | X |R/W |CH5 it #E {E38 CH5 ~ CH6 ML 1A - L REBEAKO -
#12| H'50D4 | X |RW| CHe st 50t 4199 LSB -
#13|H50D5| x| R [cH1 mAESIER
#14| w5006 x| R [cHz mAzemEr | _
— {E3 CH1 ~CH4 IAESHUEEETR
#15|H5007 | x| R [cH3 mAEENER
#16|H5008| x| R [cHa AESTER
#18| H'50DA | O|RAW| CH1 #18 OFFSET f&| {518 CH1 ~ CH6 249 OFFSET 187 - i@
#19| H500B |0 |RW|CH2 8 OFFSET 18| 183 Ko - % LSB -
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CR| B#

P B FEHREN W26

#20|H'50DC | O |R/W | CH3 1418 OFFSET &

#21|H'50DD | O |R/W |CH4 #i{iF OFFSET & | {53 CH1 ~ CH6 i S/ OFFSET ®7E 1/ 8 &

#22 | H'50DE | O |R/W | CH5 #18 OFFSET {& | &0 KO - 819 LSB °

#23 | H'50DF | O |R/W | CH6 118 OFFSET &

#24 | H'50E0 |O|R/W | CH1 %18 GAIN &

#25| H'50E1 |O|R/W |CH2 18 GAIN &

#26| H'50E2 |O|R/W |CH3 78 GAIN f | {53 CH1 ~ CH6 ' SH GAIN 8 E « [ &EE

#27| H'50E3 |O|R/W |CH4 718 GAIN {8 | /9 K16,000 - &9 LSB *

#28 | H'50E4 | O |R/W |CH5 118 GAIN &

#29| H'50E5 | O|R/W |CH6 18 GAIN &

#30| 506 |X| R |simpas EEABHRRSHBESFR FANSESR
BRERE -

#31| Hrs0E7 | o |Rw B mare = R RS-485 Bt - IR TESEE 01~ 254 - B[

REBEHKT -

#32| H'50E8 |O|R/W

BREFIRE

REBREE - 75 4,800/9,600/19,200
bps/38,400 bps/57,600 bps/115,200 bps 7574 -
ASCIl X EIREXEER 7-bit - BAI - 1 stop bit
(7, E, 1) - RTU B HIBEXEZER 8-bit ~ 1B -
1 stop bit (8, E, 1) = TR EEA H0002 -

bO0: 4,800 bps; b1: 9,600 bps ( £/ &EE )

b2: 19,200 bps; b3: 38,400 bps

b4: 57,600 bps; b5: 115,200 bps ( fir/F )

b6 ~ b13: {RER

b14: CRC i BBBEMRM (X RTURKER )
b15: ASCI/RTU = t])# - 0 5 ASCII ##3 ( &
[&EE)

#33 | H'50E9 |O|RW

b15|b14 b13|b12 b11~b9 | b8~b6 | bS5~b3 | b2~b0

CH6 | CH5 | CH4 | CH3 | CH2 | CH1

CH1 ~ CH4 DX CH1 IRTERAR :

b2 REN 1 N AAREBEFEENRREE -
CH5 ~ CH6 XX CH5 IR EREAR : b13,b12:

b13 RERN 1 N, FAAEREBEREENR REE -

#34 | H'50EA |O| R

HERRA

16 3l - B BATHEARAS 40 1.0A ) H'010A -

#35 ~ #48

ZARRERER

FSEX 1 0 RTARFE ( AH RS-485 BMNBEAL BERRFINEE ) - X TRATRFE -
R Z/RA DI FROM $5< SR EVER - LI RS-485 MBI SEVME
W RARANT A TO HLEARIE - siFIA RS-485 EILE AKIE -
RIEBYAE (LSB): 1. BEHA : 1,5=10V/32,000=0.3125mV

2. BREIA 153 =20mA/32,000=0.625pA

s CR#30 fHIRRASE ¢

HIRRES ANBE b15~b8 | b7 | b6 | b5 | b4 | b3 | b2 | b1 | bO
BRRE K1 (H'1) - o/lojo|o|ofofol1
TEHE (GPIO ) K2 (H2) s olofofofof[of[1]0
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HIRRE ANBE b15~b8 | b7 | b6 | b5 | b4 | b3 | b2 | b1 | bO
OFFSET/GAIN $#i% K4 (H4) ojloflojojo|1|0]0
CH1 ZHERE K8 (H'8) ojfofojo/1]|0|0]|0O
CH2 THERE K16 (H10) RE ojloflof1|0|0|0]O
CH3 THERH K32 (H'20) ojlofl1|o|o0o|0o|0O]oO
CH4 THERE K64 (H'40) of1/o0/0/0|0f0|o0

B ERRSEVARIZA b0 - b7 AT - AR AR NLEZ RS - 0 16
FEEREHSR - | REBERRE 4 -

n RIS

ERETHRERNABER BRSNS BENLHD Offset B CR#8 ~ CRH21 )

& Gain 18 ( CR#24 ~ CR#27 ) R#17 -

WA S RISSRTUS 56 2N - EILESAARIN -

o B30 o 131
Loz <3234
32000 132000
#
it u
b +16000 L
S0V 0 sv sV 0 2.5v
i Tov v
oPer cain oret i
|- 16m0 - %000
e —
- —
2000 R HA N I S
32384 3364
o 123 4
5% I 10V ~ +10V - Gain = 5V
3 0( CR#1 )
u (16,000) - Offset = OV (0)
H
i +16.000 -5V ~ +5V - Gain = 2.5V
b #3 1(CR#1 )
(16,000) - Offset = OV (0)
- > ot 20mA ~ +20mA -Gain = 10mA
20mA | .o, -20mA~ +20mA - Gain = 10m.,
0 dan #83t 4( CR# )
(16,000) - Offset = OV (0)
|- -16 000 N )
BIEESE | -32,000 ~ +32,000
00 BN HERIRSEE
32384 -32,384 ~ +32,384
WIRE
o 123 2 o (3
+32384 +3 238 4|
+32000 +32 000
H #
t it
M| +e000 @] +e000
Gain Gain
0 0
384 v 3V 5V 384 fama 12mA 20mA
Offset ———— Offset —————>
LVE DN L A
B3 2 (CR#1 ) 1V ~ +5V - Gain = 3V - Offset = 1V
3 3 (CR#1) +4mA ~ +20mA - Gain = 12mA (19,200) - Offset = 4mA (6,400)
HEREEE 0 ~ +32,000
HERIECERRE -384 ~ +32,384
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fEFRE TR AR ERIFEE R ML FEEN I Offset B CR#22 ~ CR#23 )
% Gain 18 ( CR#28~ CR#29 ) k1T -

WAAES RIS 7 ZEX - HILESRASIE -

o B0 o 1
10 sv
i oan " Gain
He
8 o 3 pu
32000 . 32000 .
N N
oriset ottsot
L s b oasv
—_
[N T DN
“ov
#3 0 (CR#1) -10V ~ +10V - Gain = 5V (16,000) - Offset = OV (0)
B30 1 (CR#1) -5V ~ +5V - Gain = 2.5V (16,000) - Offset = 0V (0)
BFEIEEE -32,000 ~ +32,000
o B3 2 o 3
sv 20mA
Gain Gain
s o
% 3v z%l 12mA
v 4mA
6400 0 +16000  +32000 -6400 0 +16000  +32000
Offset Off set
[ 4L DN LSRN
o tE0 4
20mA
i Gain
i
*’,“ 10mA
0
N\ +16000 +32000
offset
H A

1V ~ +5V - Gain =3V - Offset = 1V

&3 2 (CR#1)

33 (CR#1 )

+4mA~ +20mA - Gain = 12mA (19,200) - Offset = 4mA (6,400)

&3t 4 (CR#1)

OmA ~ +20mA - Gain = 10mA (16,000) - Offset = OV (0)

BFHEEE

0~ +32,000
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